	Interpreting Graphs Practice	MEL4E


[image: ]1)  Identify the type of graph, explain why each graph is suitable for the data displayed.
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[image: ]2)  The city art department could display the distribution of a certain amount of property taxes in a bar graph, instead of using the circle graph in our note.
a)  How are the circle graphs and bar graphs alike?  How are they different?


	Similarities
	Differences

	
	



b)  Which graph do you think is more suitable for displaying the data?  Explain.



3)  We will be using percentages a lot with circle graphs.  Express each of the following as a percent.  Hint:  Divide and multiply by 100.
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[image: ]4)  In our note, we did a bar graph showing where transportation workers are employed.  Displaying only these seven areas of employment in a circle graph would not be meaningful.  But you could display these seven areas and “Other” as percents of the total in the pie graph.






a)  What do the percentages add to now?

b)  Let’s say 200,000 workers in Canada work in the transportation field.  Determine the number of workers in each sector.
	Sector
	Percentage
	Number of Workers

	Business Services
	
	

	Air transportation
	
	

	Rail transportation
	
	

	Federal administration
	
	

	Water transportation
	
	

	Public transit
	
	

	Wholesale trade
	
	

	Other
	
	

	Totals
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9. The city art department could display the distribution of a certain
amount of property taxes in a bar graph, instead of using the pie
graph in question 6.

a) How are the pie and bar graphs alike? How are they different?
b) Which graph do you think is more suitable for displaying the
data? Explain.

Where Your Property Taxes Go
600

500 — -

2

300

Amount ($)





image5.tmp
10. Skills Check Percents are used with pie graphs. Express each
as a percent.

a) 25 out of 100 people b) 50 out of 200 light bulbs
) 50 out of 500 cars d) 50 out of 75 students
e) 2 out of 3 houses f) 3 out of 5 dentists

g) 7 out of 10 drivers h) 1 out of 4 telephones
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11. In question 2, a bar graph shows where transportation workers are
employed. Displaying only these seven areas of employment in a pie
graph would not be meaningful. But you could display these seven
areas and “Other” as percents of the total in a pie graph. Explain why
you would need a section for “Other.”

Transportation Workers: Where They Work

Air transportation Rail transportation 14%

18%

Federal administration
9%

" . Water transportation
Business services 7%

44%

Public transit
3%

Wholesale trade
1%
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Ch apter I: Data G rap hs 9. a) They both represent the same data and are easy
to read. The pie graph uses percents of total tax

I.1) Interpreting Graphs pp.2-9 while the bar graph uses specific amounts spent on
each area. b) Answers will vary. For example, the
Develop pie graph gives more information at a single glance.
1. a) the average snowfall b) It is divided into 10.2)25% b)25% <) 10% d)66.7% e)66.7%
increments of 50 cm. The scale allows for all the 1) 60% g)70% h)25%

information to be seen. c) the cities d) Quebec
City e) Vancouver f) Calgary and Toronto

g) Answers will vary. For example, the bar graph
allows the information to be assessed visually and
is easier to read to get an impression, but exact )
values can be read from the table. h) Answers (1:2) Constructing Graphs pp. 10-13
will vary. For example, advantages: the snow shovel Develop

is eye-catching and the replacement of the scale 1. a)

with the values given on the bars makes it possible : Methiodiof Triivel toWoes
to read exact values; disadvantages: without a
vertical scale, it takes more time to interpret.

2. a) the percent of workers in each sector
b) Answers will vary.
3.2)99% b)101% <) rounding d) 40-54

P PR ppeTT VI T AR

11. Some workers work in areas that are not identified
on the graph, perhaps because the areas are too
small or too specific.

Not ascertained
Walk only

Bicycle

Motor vehicle
passenger

hod of Travel
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have different weightings.
4. a) 10 seconds  b) between 1960 and 1964;
the line has the steepest decline between these
points. ) between 1988 and 1992; the line
goes up between these points. d) The data are
continuous and well suited to a line graph. Line
graphs are usually used to show change over time.
5. a) similar ups and downs for both lines ~ b) The two
statistics have more of an inverse relationship.
) No. When murders decrease, car crashes increase.
6. a) Police and fire  b) Debt and Libraries, parks
and recreation  c) Health, social and children’s
services, and Other  d) 100%, to complete a
circle e) $870

Practise
8. a) double bar graph, compares two sets of discrete
data  b) line graph, shows the change of temperature
over time  c) pie graph, divides up the time spent
on each subject as part of a whole d) double line
graph, compares two sets of temperatures over
many years e) bar graph, compares discrete data
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3.2)99% b)101% c) rounding d) 40-54
e) Answers may vary. For example, the graph
above gives exact values. f) Since the number of
years in each category is different, the categories
have different weightings.
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8. Identify each type of graph. Explain why each graph is suitable for
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